June 5th

Staff	Job	Hours	Рау	Amount
Master Carpenter	Build	8	\$40	\$320
Staff Carpenter	Build	8	\$25	\$200
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0
Total		40		\$520

June 6th

Staff	Job	Hours	Рау	Amount
Master Carpenter	Build	8	\$40	\$320
Staff Carpenter	Build	8	\$25	\$200
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0
Total		40		\$520

June 7th

Staff	Job	Hours	Рау	Amount
Master Carpenter	Build	8	\$40	\$320
Staff Carpenter	Build	8	\$25	\$200
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0
Total		40		\$520

June 8th

Staff	Job	Hours	Pay	Amount
Master Carpenter	Build	8	\$40	\$320
Staff Carpenter	Build	8	\$25	\$200
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0

F2M

Carpenter Intern	Build	8	\$0	\$0
Total		40		\$520

June 11th

Staff	Job	Hours	Рау	Amount
Master Carpenter	Build	8	\$40	\$320
Staff Carpenter	Build	8	\$25	\$200
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0
Carpenter Intern	Build	8	\$0	\$0
Total		40		\$520

June 12th

Staff	Job	Hours	Pay	Amount
Master Carpent	Build	8	\$40	\$320
Staff Carpenter	Build	8	\$25	\$200
Carpenter Inter	Build	8	\$0	\$0
Carpenter Inter	Build	8	\$0	\$0
Carpenter Inter	Build	8	\$0	\$0
Total		40		\$520

June 15th

Staff	Job	Hours	Рау	Amount
Master Carpent	Load In Day 1	12	\$40	\$480
Staff Carpenter	Load In Day 1	12	\$25	\$300
Overhire Carper	Load In Day 1	12	\$200/ 1 Day	\$200
Carpenter Inter	Load In Day 1	12	\$0	\$0
Carpenter Inter	Load In Day 1	12	\$0	\$0
Carpenter Inter	Load In Day 1	12	\$0	\$0
Total		72		\$980

June 16th

Staff	dof	Hours		Рау		Amount
Master Carpent	Load In Day 2		8		\$60	\$480
Staff Carpenter	Load In Day 2		8		\$38	\$300
Carpenter	Load In Day 2		8	\$200/ 1 Day		\$200
Carpenter Inter	Load In Day 2		8		\$0	\$0
Carpenter Inter	Load In Day 2		8		\$0	\$0
Carpenter Inter	Load In Day 2		8		\$0	\$0
Total			48			\$980

June 17

Staff	Job	Hours	Рау	Amount
Master Carpent	Load In Day 3	8	\$40	\$320
Staff Carpenter	Load In Day 3	8	\$25	\$200
Carpenter Inter	Load In Day 3	8	\$0	\$0
Carpenter Inter	Load In Day 3	8	\$0	\$0

Carpenter Inter	Load In Day 3	8	\$0	\$0
Total		40		\$520

June 22nd

Staff	Job	Hours	Рау	Amount
Master Carpent	Tech/Notes	12	\$40	\$480
Staff Carpenter	Tech/Notes	12	\$25	\$300
Total		24		\$780

Days	Total Hours	Total Amount
June 5th	40	\$520
June 6th	40	\$520
June 7th	40	\$520
June 8th	40	\$520
June 11th	40	\$520
June 12th	40	\$520
June 15th	72	\$980
June 16th	48	\$980
June 17th	40	\$520
June 22nd	24	\$780
Total	424	\$6,380

Katherine, Kenet, Sean Project 04